Calculus I Name

Review - Parent Graphs, Domain and Range and Piecewise (2)  Block Date
Find the exact value of each of the following. You may NOT use a calculator.
\EY
1. cos™ = /7' 2. csel= L 3. cotzzg
6 6 6
\EY, NF3
4. sin— = /Z 5. cos£= /Z 6. tan’ = l
_— 4 — 4
‘ -243/ -3
| 3
7. sins?ﬂ: /Z 8. sec%[= 3 9. tan%[= /3
10. sinz = O 11. cosz = ~ | 12. tan7 = O
13 sin %= - | 14. cosZ= O 15, tan % = (B
2 2 2
16. sin27 = O 17. cos2x = i 18. tan27 = O

19. Describe how the values of a, b, ¢, and d would affect the parents graphs.

y:ia(ib(XiC))sia’ y=taltb(xtc)td | |,___* 4

+h(x tc)

y = +asin(+b(x +c))+d

Fill in the missing information for the following functions. (without a calculator)

x? -9 X +4 T
Transformations: Transformations: Transformations:
Hole: Hole:

VA: VA:
HA: HA:
A
y
" Domain: Domain: Domain:

Range: Range: Range:



Calculus I Name K@
Review - Parent Graphs, Domain and Range and Piecewise (8)(2) Block J Date

1. Describe how the values of q, b, ¢, and d would affect the parents graphs.

y:ia(ib(xic))3ia’ y=taftb(xtc)rd | |, - 0,4
+b(x £ ¢)
y =za Sin(ib (X + c)) +d i‘ lo.l > Han verh el shveth & bl herizentod
- F\ * I“kl -l “H/\Lﬂ Vk?('h/ 7J \\_.hﬂl’\\; Sheinke
C moves “H/L&\(jlofj o”m(au-— { IDI/I ol ontal

(}\ Movee "H/l.k ove _l el rij UM Strefih |
Fill in the mlssmg mformxaﬂfn for 'rhe following functions. (without a calculator)

2) F(x)- 5y Sy r()- R S el 6)

Aot 3x+9 9 3w X2 +7x+12 [eoa(x+3)
Verhz ol $h(ML by A N . ‘ - i .
Transformations: 5 X~ | Transformaflons: lefi 3 ;[:3 Transformahons: “
Hole: (-3 -2) Hole: {- H)»’(} ‘r“e.-ﬁeul— Xoue s
VA: Nene VA: x= f'e;-? lect \\j'coclS
HA: Noaz HA: y = t"\’g‘rv‘r 5
\

T T / - P
5T o

o

Domain:(-50,-3)0(-3,00)  Domain: (~es,~N0(H4,-3)J(3,52)  Domain: (-9, G|
Range: (oo, 2)u(200) R DU V0 00 R (o, 6]
Fill in the missing information for the following functions. (with/without a calculator)

P

\
ol f’z’>0u

5) h(x) :[l(x+2)3j 6) F(x)= X X2 7) g(x)=2sin(4x)-3
2 bx +10x Verticol Strevn
(gt - by 2
Transformations: —&LT-M—‘)— Transformations: heri 20nted !
Verhcod shrnk b\? ) Hole:(—2)3/7§)\ XA2) Amp: A _ Shrink lo\/ 4
lefa 2 VA:X=0 Period:%=§ dovond
HA:Y:SL Key Points: O] T "LL: igj T
/ gy -
/ 3|~ 2 | -5]-3
¢ % 3%
./ é'_\(}l ;% :q %6\ f%’
' A N ArY T t 1 { —>
/ i ;5—'-1 )
y . -2
Domain: (=, <o) Domain: { -0 ,@N(@f 0)U(0/@)  Domain: (==,

Range: (oo , o@) Range: (,ool‘/s) 0(‘/6’ 3/‘030(’% ) Range: Jj_ 5 - ﬂ



Plot the graphs of the given piecewise functions and calculate the requested function
values.

(without a calculator)

3 if  x<-3
8) g(x): x?-4 jf -3<x<2
—%x+3 if  x>2 a4 r
- < T,
Va
9(0)=" 9(-3)=3 \&
9(2)=C 9(-5)=3
903) =315 g(-7273)= 3
(with/without a calculator)
[ 4 Ff x<-b
3x+10 if -B<x<-2 ©
9) /7(X)=< x*? if -2<x<l1
1 .
7; — [ 1
£(5)=| f(-2)=4 J
F(2)="3 F(-4)=-2
| ‘\
F(6)=5 F(1)=-3



